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(Governing Equations)
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(Lagrandian and Eulerian Method)
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(Classification of Fluid)
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(Reynolds Number-based Similarity)
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(Similarity and Nondimensionalization)
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(Couette Flow)
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(Couette Flow)
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(Couette Flow)
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(2D Poiseuille Flow)
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6. 2RTTART XA i 2
(2D Poiseuille Flow)
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(Practice problems)
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Pressure in aorta and in P. Artery has small swing
because.of the elastic.vessels.

KEHR
AT W sl e

100

P (mmHg)

60

120

100

60

V(cm /%)

20

1 Eéf" l') ’ﬁ']70m| 0)11[11&75‘“ —20
ERHH S h SR
1 BIX. 70mlx70x24x60=7056 /

T2 14




« EENDER

Governing equations and Conditions:

@Navier-Stokes equation and equation of continuit
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@LL.aminar-turbulence transition
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BCs:
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